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DEPARTMENT OF MATHEMATICS AND STATISTIC'S

MATHEMATICS 253 — 102 FALL 2004
QUIZ #4a [04-11-17(Wed)]

Attempt all problem. Each problem: 10 marks. Total: 30 marks (best 3 out ol 4 problems).

L. Find the area of the surface obtained by rolating about the r-axis the curve
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2. Find the centre of mass (. 7) of the lamina shaped as given, assuming its density is 1.
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3. Solve %’f =3zy+a2, y0)=1
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4. Find the orthogonal trajectories of the family of curves y = ce™,  where ¢ is an arbitrary

constant.
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Attempt all problem. FEach problem: 10 marks.  Total: 30 marks (best 3 oul of 4 problems).

1. Fiud the area of the surface obtained by rotating about the y-axis the curve
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9. Find the centre of mass (.4) of the lamina shaped as given, assining its density is 1.
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3. Solve QW — 9y —x, y(0) =2

E&z x (25 ~1)
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4. Find the orthogonal trajectories of the family of curves

constant.
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where ¢ is an arbitrary



